HIGHER/INT 2 BUSINESS MANAGEMENT
“When the weather outside is frightful” … try these questions!

Question  1

British Airways has chosen to group its activities by customer (business and private travellers).

	a)
	Describe the advantages and disadvantages of this type of grouping.
	5

	b)
	The airline had found that some journeys are not making a profit and Head Office has decided to stop operating these routes, at least in the short term.
	

	
	i)
	What type of decision does this represent?  Justify your choice.
	2

	
	ii)
	Describe the advantages and disadvantages of decentralised decision making.
	6

	c)
	British Airways sponsor sports events.  Why would a company choose to use sponsorship as a means of promotion?


	3

	d)
	British Airways strategic objective is to increase their market share.
	

	
	i)
	Describe the internal and external factors which may prevent achievement of this objective.

	6

	
	ii)
	How might an organisation judge whether the decisions taken to achieve any of its objectives have been the correct ones?
	3

	
	
	
	25


Question 2
Morrisons took over Safeway supermarkets as part of their growth strategy.  

	a)
	This takeover is an example of horizontal integration.  Identify and describe 2 alternative methods of growth.


	4

	b)
	Technology is essential to a company like Morrisons.  Discuss the factors which might restrict an organisation’s use of modern technology.
	5

	c)
	Morrisons have yet to offer  online shopping.  Explain the advantages to an organisation of selling products over the internet.


	4

	d)
	Morrisons sell their own branded products and other manufacturers brands.  Discuss the effects on an organisation of branding their products.


	6

	e)
	Explain how extension strategies can prolong the life of a product.
	4

	f)
	Explain the purpose of the Advertising Standards Authority.
	2

	
	
	
	25

	
	
	
	

	
	
	
	


